Solution Report For IBPS PO PRE 21 (Difficult)

Essay for Question No. 1

fArdar (1-5): Fofafad THaR &1 @ gdd 3iegga &% iR U & SRS |

3 FEAI F AP, Q, R, S, T, U, V3R W g, ¥ Tft T quTeR A & g &1 3R Ug b 96 §, IS el & [ 4 A
A T8 A UdS U fohare S0 o - Sifeeforan , afémr sipie, Sivamewr, —uiave, at S8, fidie, YRd SR ufwa 9
|

RIRTUH GNP MHcaA TSN G IATM R ARAE T, Q A1 A1cidhT & FWH & YS! § | HRA B HWH S & T I gaRl
8,90 7l fididT 3R 1 8 o SS9 &1 W ¢ | U, ST & SH & gl ¥ gl ¢ | IXC 8161 B S Hddh! & S o
fAdpean Skl 1 9% SS9 & owH iR Q F fiT 3l AT IS § 1V 3R Iuliavs &1 HWH Th GIR & Hdbead TSt g1 Q
ISICIUS &1 B ol § | R 3R SRR & S & otd had U Afdd 9818 | W, TR & S & 918 J TRRT g |
&7 P TBT BT B, UITHE & S & a1 I IR ¢ |

Q. No Question Status

Q1 AERRTAI P QRIS I PN S SP A A ISR 2

a. P 3R HRd &I S
b.R3RT

c.W3RP v

d. R 3R glIqIUS &1 S
e. V3R U

Not Attempt = Correct Ans. ¢

Solution. = Directions (1-5):

(Pakistan)
Q

(Australia)

5

(India)

[South Africa)
T

(Sri Lanka)
w

[Banladesh)
(West + Indies) R
v

[New Zealand)
u

Q2  fyfifea ¥ A o AR FT1HFEE § 2

a.R
b.S
c.T
d. U
e.V

Not Attempt = Correct Ans. | b

Solution. | -NA-

Q3 & R F YR R AUl v # @ IR IHg TP GHM € 3R TP THE a1 21 &) T U1 $ SMUR
TS g A RT B



a. W—4tciT &1 HwH

b. Q —Ufhd BT B
¢. R — SATGRI &1 HH
d. V—YRd & $WH «
e. S — 3ol &1 dwH

Not Attempt | Correct Ans. | d

Solution. | -NA-

Q4 Fafifea d Qo1 URT S T & I A gERTR 2

a.S
b. iR &1 ™
c.T
d. g 1) 3R 2) w
e. SATGY BT WM

Not Attempt = Correct Ans. : d

Solution. | -NA-

Qs faffRa A I TTHYT I8 2

a. T ST 31pTehT T B B |
b. R FITCE R T L ¢ |

c. V3T SS9 BT T g |

d. 9t 1), 2) 3R 3) w

e. TR Y DI el

Not Attempt = Correct Ans. : d

Solution. | -NA-

Q. No Question Status

as Rl ddw sered seaT g P R<N 3@ 2

a R=P=§<N>J=L
_S<R=P=J<L=N
N>P=]>L=R<S§

LxR=P=]=8z=N
g
. None of these

(o

(¢}

o

(0]

Not Attempt = Correct Ans. : d

Solution. | -NA-

Q7 gLz m 3R P2 q FAifEa & uw ?, d i@ 3§ § sftrafa § @ vy e & S o= a1 919 SR 2

L2Q?M?0=<P

o
v
IA



Q.8

Q.9

Q.10

Q11

I [ (7

Not Attempt | Correct Ans. ¢

Solution. | -NA-

e AfEAfdRI T> U2 V< W < X IRdd & 9 ¢, df Fafafad & 9 @19 I siftreafad 3« gift 2

a.TzV
b.X>V &
c.Wz2V
d.T>W

e. 30 q PI3 g
Not Attempt = Correct Ans. | b

Solution. | -NA-

ofe sfiraufd F <K <1> A, 1< 2’ 3R F > G I« ¢, af Fuferfaa # @ 19 & sifraafe araa # srae ghft?

a.G<z
b.Z>F
c.G<lI
d.KsZ
e.mﬁw?{'w

Not Attempt | Correct Ans. @ e

Solution. | -NA-

fFrafafad udiel # @ @9 a1 < i siftreafar M < J 9 Fifda § 9 1 & e uy R sTRM am 2
J_O0O_P_M

T VAR
&

® 20 oD
H A LV
ap

H ANV VN

Not Attempt = Correct Ans.  c

Solution. | -NA-
=t (11-15): FEfIfad e T WH qde g B3 iR usi F WS |

ST A, B, C, D, E, F 3R G Ipd X A Ugd ¢ | A I g oF i wemaif vi, vil siRvin i ugd € 137 993
firg T Y He ve 8 9 @1, dielt, g9, iell, Freht, Tt ik ghg W simarwy® T8 8 fF as s HHA B
TP PUTA PA A PHA G DA E | D A Flbg HHIW Ug-1 & 3NR a8 P& VI # Uedr ¢ | oA dieht ¢ ug-it a8
FATVIIH TSI USaT @ | F 3 Jadl FHI Ug-t 2 98 B & 1Y H&1 VI A Uear 8 | A A 7 ) el FHe ug-t 8 8iR
TE a8 F&TVI A USdT 8 | E 3 ATl HHIW U1 & TR 98 H&f VI A T8 uedr & 1 G 7 83 I Ul § W 98 Fafn
VI § T8 a1 @ | ®am vi § ug IR fhedt oY o A el 1 el e A et 21



Q.12

Q13

fFrafafaa % @ o9 Far vin ¥ g @ o6 & I9g o1 iR swars 2

a.D,B,F
b. C.E,G
c.AGD
d.GEA

e. STH A BIS A8

Not Attempt | Correct Ans. | d

Solution. Directions (11-15):
Table - 1 Table -2
Student Class Colour
VI | vII | VIII | Black | Blue | Green | Yellow | Orange | Red | White

A * v’ ® v
B ® v’ ® v’ ® ® ®
C v’ £ ® ® = = v’
D v’ E E E Ed E E E v’
E = v’ = = = = = v’
F v’ ® ® ® = = v’
G e % v

* * *
Combing both the tables we get,

Student | Class Colour
A VIII Blue
B Vil Black
[ VI Yellow
D VI White
E VIII Red
F VII Orange
G VIII Green

fE=1 (11-15): FufafEa TS BT M qde srorga &% IR Ui F I e |

TSN A, B, C, D, E, F 3R G pa X A Ugd ¢ | A T S o7 fia wemsi vi, vil iR vin A uga € 1 37 99 A
i T Y Seiie ugh @ 9 @, dieht, g8, el wreht, Tadt 3k wibg W maTwae T @ P sg s wa AN
TP H&TH HH A PH G B ¢ | D A Tibg HHIW Ug-1 & 3R a8 ®am vi # vear & | Brm dieht wiiet vg- g
FETVII A TSI USAT 8 | F A IR PHIM UG 2 TG B P AU BT VI H USaT 8 | A 7 ol HIell HHIW Ug-1 @ iR
TE a8 F&TVI A USdT 8 | E 3 AT HHIW U1 € TR 98 H&T VI A T8 uear1 & | G 7 83 $HIW Ul & W 98 Fafn
VI ¥ T8 uear @ | ®am vi § ug TR fohedt o o 7 el 1 el e A et 2 1

fafafea A A fPasen i s cUearg 2

a. V0l
b. VI
c. VIl

d. Feifea =€t fovar <1 gepar @
e. I VI VI

Not Attempt | Correct Ans. | a

Solution. = -NA-
&= (11-15): Fufifed TS ST ™ qde srorga &8 IR UM F I e |

TS A, B, C, D, E, F 3R G pa X A ued ¢ | A ITa S o fig semsi vi, vil siR vin A uga € 1 37 99 A
i T Y Beiie ugN @ 9 o, dieht, g9, el wreft, Tadt 3k wibg W ATy TE R fF sg s pa AN
TP PUTA PA A PH G DA€ | D A Flbg HHIW Ug-1 8 3R a8 P& VI # vedr ¢ | o el F+iie ug-ht a8
FETVIIATEI USAT | F A YR PHIV UG 2 TG B P AU B&T VI A USdT 8 | A 7 ol H1eil HHIW Ug-1 8 iR



Q14

Q15

AT FHVIH USAT 8 | E A I FHIW UG 8 IR 98 H&T VI H A8l Ued1 8 | G 3 83 I Ug-1 8 U I8 Ha
VI ¥ T8 year € | ®am vi § ug @ fpdt o o1 7 el w1 wrelt s A g 2 1

BRI FHISTIT TS ?

a. e

b. e

C. Pl

d. 8T TEI S ebell §
e. TR A DI Tol

Not Attempt | Correct Ans. ¢

Solution. | -NA-
=t (11-15): Ffifad e 1 9H gde s &3 iR usi F Sw S|

TS A, B, C, D, E, F 3R G pa X A Ugd ¢ | A T S o fia wemsi vi, vil iR vin A uga € 1 37 99 A
firg T &Y Hie ve 8 9 @1, et g9, iell, reht, Tt ik g%hg W srarwu® A8 8 fF us s FHA B
TP H&TH HH A $H I BF ¢ | D A Tibg HHIW Ug-1 @ 3R a8 ®am vi # year & | S dieht wiiet vg- g
FATVIIE TSI UaT 8 | F 3 Y& FHIS Ug-t @ 98 B & J1Y H&1 VI H Ugar 8 | A A 7 ) el FHie ug-it 8 iR
TE a8 F&TVI A USdT 8 | E 3 AT HHIW U1 € TR 98 H&T VI A T8 uedT & | G 7 83 $HIW Ul & W a8 Fain
VI § T8 uear @ | ®am vi § ug IR fohedt o o 7 el @1 el wHiw T et 2 1

faffea g disdiad o e 2

a.B
b.C
c.E
d A

e. TTHIA DI Ta!

Not Attempt | Correct Ans. ' b

Solution. = -NA-
3= (11-15): FUfIEd e &1 @ (@ 3= $ R U F W |

TS A, B, C, D, E, F 3R G 3pa X A Ued & | A Ira g o U wemaif vi, vil iR vinHugd 8 157993
i Y Y Hiie ueft @ 9w, dieft, g8, el Breh, Gad ok wbg W smargs T R fF g A wH A
TP FETH FH Y FH G B ¢ | D A g HHIW U1 ¢ 3R a8 Fe&m VI § vear 3 | g dieht siiw veft a8
FETVIIATEI USAT B | F A IR PHIV UGS 2 TG B P AU BT VI H USaT 8 | A 7 o HTelt HHIT ug-1 @ iR
T €Y 98 H&T VI H USaT € | E 3 AT HHIW U1 & IR 98 P& VI # 781 Uea1 8 |1 G A g5 SIS Ug-t & R 98 Haf
VI § g uear @ | ®am vi § ug T2 fhdt o o1 A Heht ot el e A g 21

o- FEffT TqeEa A A ga s arg 2

a. A—&HTa—VIII
b. B —Utai—VI
c. C —giedi—Viil
d.G —&- VI

e. STHI DS Tl v



Q.16

Q17

Q.18

Not Attempt = Correct Ans. | e

Solution. | -NA-

féar (16-20): FrafafEd STFER &1 aFYd® reag oY R UM P WS |

BT 8 § YRd &) arhfed I & WRHRGRI 31 ur=ar firelt 8 | URA &1 gATSeS AR & GUNTR & Wt 3w @t
# ¥ offe @ g1 31 wrgar o fireft 3 ofiR w1y & ot o e gl & & Afa-Rarsh, weumsii ok a1 & &g
arm @) o gefAe far T g

Q- Fafafa $17 91 $Y9 ST yRT & =i 8 ? (TP YRUN 98 @ o Udel 0 ¥ grafia T8 ¢ o ot
T 4Tt TE /T o Wb R)

a. YR TP Bt TG BT GHE IRAT 8 | v

b. YR 7 3fbfeds =1 &1 via fafduar & @it TR fems 71

c. HRA B 3 fIp Ry <= & R Sfebfeds gt # wifdel 81 & forg anedt fovan a8
d. HRA I SFFHUM HA & T srbfees Ayl & T Wt S7g ST <eell &
e. THY I T

Not Attempt = Correct Ans.  a

Solution.
It is this respect for sovereignty of a state that has led Indian to recognize the rights of the Arctic
Countries.

féar (16-20): FrafafEd STHER &1 aFYd® reag HY R UM P RS |
YR & N1 ad Pt Pl & 9¢ WM A TR & — o Uzd 7 & IR IR 9 N | g0 3R, PR Aq a1
P A TR 81 WA IwE S e |

Q- 99 P FIA T F NS G-I HRUT FIT 8 IHdT AT ?

a. YR &I &1 AR AT

b. TRHR AT | AHYF T IR 6! §

c. 3RISIY STGIR H de BT P BT FgA1
d. SIcRTSTA STWR H STeR &1 AT &1 §¢ ST
e. FTH A BIS TGl w

Not Attempt : Correct Ans. @ e

Solution. | Nothing has been said about the factual cause of price rise of oil
3w (16-20): FrafifaT TR &1 AFYdS reagd B3 R Ui & S |

fUod 3 Irel  YRT TAR GERWHa & 98 G 32 6T ¢ 3R di WeR F Gt wari & amacg i
RBI 3t GaRwifa fra=or & 8 8 | GErwifa &1 59 98d ¥ & $RUIIBR B 99 2014% AHTHT TG §R I
PTERTE |

Q- T 2014 & AFTYT TG §R WM B 3MRIHT & NS T FRUFTE ?
(A) MR ¥ S¢d1 UPTAR

(B) IR & T 1 Sraafere smyfed

(C) uTe BT myfef F Hft

(D) TRPR ga1 Whifa B Fifia w33 o awa T8 2

a. »ad A



Q19

Q.20

Q.21

b. HATA 3R B
c.HAAD W
d. %ad C

e. $dd B

Not Attempt = Correct Ans. | c

Solution.
Due to continuous increase in inflation government is facing problems, and losing public support. This
is why the govt has been apprehensive of losing the 2014 Lok Sabha elections.

= (16-20): FrafafEd STFER &1 aFYd® reag" oY R UM P RS |

Q- 3 ufa fRF yRa ¥ Toudare &1 53 9gd1 8 o1 w1 2 | Ued oxe & it warel & amasg off fRufa & #15
YR T8 ¢ | 9afP &g a & vl & FRUT 9 U 7o Ial | 9 Ta1 8 | 3% WHR 15 Iufie 781 @
3R T ARIAAITl BT Heg 1 & T AR § | 39 G0 ¥ I & Il URT PR B S A sria
AL FIRT 2

(A) TRTEaTdl & # Ao ofR enfife faw T giAT =i |

(B) ToIGATIET} B WeH I & forg AT 1 Mg SATURTH T JERT AT AT |

(C) S &7 & &N B Apai & St TRy |

(D) TV AT ) A P AfRI=ITedt I AN USA F Aee A+t a1flRT |

a. »ad A

b. Had B

c. Had D

d. $9d A 3RC w
e. SRIad quft

Not Attempt | Correct Ans. | d

Solution. | This is how the govt. can win local support

fd=r (16-20): FrafafEd STFER &1 aFyd® sreag" oY R UM P WS |

TS 2013 § Jofw #1E 7 Rysies 3w fiued tae I ARy yaum &1 sRidue gifta = @iie w7 foar
2 3R MP 3R MLA &) e g 8 % Te a1 wsg quT &1 315 it Tew o1 fHfY ff sroviftres amra & <t
T 9IF R IS AT I, B <1 St 3R 34 &) aut a1 39 31 o1 3o o gt

Q- ITYT SRl A g e 7t Frpaar @ 2

a. GNAPIE, YR TWHR B! 30 dlebd a1 =rgar 3

b. A HIE T H W o} IAoHIA TeaT g v

c. gl S Nusier™ s diued tae & wraur & YR ST d9rgdT 8

d. GOA BIE TIUTT BT 81 B & BRI YR b TAUT bl TRE{UT BT =Ml &
e. TTH Y PIg g

Not Attempt | Correct Ans. | b

Solution. = -NA-

= (21-25): R R T yd® sl A A9 Fu= R v ¥, et srgaRur A7 fAseat 1, 1 iR 1 grr & war
8] I1d Tt | et g1 W W U fAT T FYF B T HEAT 8] I YA B AFYES Ui 3R i awt
P AT HRd g ol FIR i H1 a1 fsawd Ry 78 Y=Y &1 adb ol srgwRur Hrar g

I difo—



DY

it g2 81

PO SOOI E |

Tt SR g § |
e
1.PS A gdS

I. PO TNS TS & |

. s T g T 2|

a. Had | SFTIRVT HRT §

b. Had || SRV BT §

c. e I11 STERV BT &

d. A AT 1 T 111 3R 1| TRV AR w0
e. TTH U PIs A8

Not Attempt | Correct Ans. | d

Solution. T

Q22 f3d=r (21-25): A RE ¢ yd® wyt ® 9 wy= e v €, foraer srgaRor 7 st 1, 1 3R grr R
B I a A e g1 W Y U RRT T FU FY T AT 8] S HYT B AHYdS Ufeu 3R Fra el
P aea-T R4 gY Avfa FIfoR fF @17 a1 fased e e $y= &1 adbqut sruRur Har g
I dfo—

DY:

$O fohae PRIV & |
FO BRI S § |
PO W pRIGig |
A

.50 fPad S T 1
I.5S P PRITIF |
.39 fPad FRIAi & |

a. P13 IRV TEI HRATE v
b. Pa |SFIERI AT §

c. Had || SR IRAT §

d. Had Il SITRT BT §

e. $ad | 3R Il SR BT &

Not Attempt | Correct Ans.  a

Solution. T T e D e e N

P -~ e
I:' Book (.X Papers Ilf -..I Desks ,"/\ Cha \J
. AN »‘5‘{\ po4 S
- . — - e e

Q23 43wy (21-25): A RE 7T yAF uyt & A7 Hy= R 7w §, Soryet srgmRor FiF Ay 1, 1 307 1 grr faar



B I1a 9 | et g W W U AT T HUF B I AT 8] SF Byl Bl FYdd Uiy SR [ aal
P AT Hd Y FAvfa BIRR & i a1 s R e wy=it &1 adbyut srgaRvr wvar @)
IW dfoR—

DY:

PO THA difeeai g |
ot aifearea £
aftcagudl
e

. PO SHITHAR |

Il gl g afearg |
. $5 g aIfeear & |

a. $Id | 3R || IRV HT §

b. Fad | 3R Il ST FRAT§
c. Had |1 3R |1l 3RV Il §
d. Tt SFERU R §

e. STHI DI el

Not Attempt | Correct Ans. | b

Solution. e
———— /,-- e —— e
-~ P ~— Drums ™
.'"_/'/f\’: . ., ol W
( {( () Buckes ) Tubs j |
Pats A, /
x\ N A .
S— _}i}:“"- — ___—F R - A
*-\_H_..

Q24 f3d=r (21-25): TR RE U yd® wyl # 7wy e e g, gt srgaRur A7 st 1, 1 3R R &
B T at A e B W Y U RRT T HU FY T WHAT 8] S Ul B AHYd® uleu 3R wra awat
P AT HRd g ol FIor i S a1 fsawd iy 8 F4=Y &1 adbyul srgwRur Hrar g
I dIfo—

DY:

gt s

gl are ST E

gt ggai a1
e

LPS AT & |

Il. $ TP AT 2 |
. ®1g g8 AT T8 81

a. I | SFIER BT &

b. B |1l SFIERU BT &

c. PaA AT AN | AT 1| STRUPRATR W
d. Haa AT al | AT 18RI SFTER0T BT §
e. TTH I P A

Not Attempt | Correct Ans. | ¢



Solution.

Pins
Bags
Chalks

Q25  fyd=r (21-25): A RE 7T @ uyt ® A7 Hy= Ry e 8, SRyt srgmRor 19 ey 1, 1 307 1 gw faar
2| T1d Tt | et 1 W W MUY T T FUA Y T AT 8] Q1 HUAT B AFYdS Ul 3R i awat
P AT Hd U FAvfa BIRR & i a1 A R e wy=i &1 adbyut srgaRvr wvar @)
I divod—

DY
POTHIHE |
FOCHAER |
I ATd N TE 8 |
Ao
KpAcivkr: i
I.PSAT TR
N.FSNUTHE |

a. DTS IRV TEI PRATE v
b. HIA | IRV HRAT §

c. Had || 3TN IRAT §

d. Had Il STEROT HAT §

e. Had 11 3R 111 SFTTRYT BT §

Not Attempt = Correct Ans. | a

Solution.

(T e 0§ e )2



Essay for Question No. 26

8w (26-30): FEfITRET STHER &1 & Y 3eqa= &3 3R Ui & SRS |

g 3R T P! AR HI aTell Teh HM &1 Wed) 3R TJamsht &t U ufad fou oM W a8 3 Fyifea ol & s
A% TR H Ydafd el 8. Fufafld, $99e iR gHafaw TRl &1 U 3aTer0r 8-

%1Y9c: new 11 bold 22 carve hundred 32 29 45 houses it 38
IRUTI: 11 22 new bold carve hund red 32 29 45 houses it 38
IROT1I: it new 11 22 bold carve hundred 32 29 45 houses 38
TRUT 1. 29 32 it new 11 22 bold carve hundred 45 houses 38
IRUT IV.bold carve 29 32 it new 11 22 hundred 45 houses 38
IRUTV: 38 45 bold carve 29 32 it new 11 22 hundred houses
IRUT VI: houses hundred 38 45 bold carve 29 32 it new 11 22
TROTVI TTYE HT ifaH RO |

SWRIE =R & FHl & AR, FafafRad s # fau 7 37ye & fore 3ferd =Rl 1 J1d SIfee |
g1Yc:ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates 10

Q. No Question Status

Q26  FAAYHH WUVIH ‘ice’ B RN TURPAR@ SR 2

a. §T¢ q dRT
b. T ¥ e
c. TRV TAT w
d. S8 T
e. R A DIS Tal

Not Attempt  Correct Ans. ¢

Solution.

Directions (26-30):

The machine arranges words and numbers in the following manners.

Step : I. The first two numbers are arranged in ascending order from the left.

Step : Il. The first two words are arranged according to the number of letters present in the word.
This process follows in each alternate step until all the numbers and words are arranged.
Input : ice money 21 13 good 18 12 qualify 35 eligible 41 browse candidates 10

Step -1: 10 12 ice money 21 13 good 18 qualify 35 eligible 41 browse candidates

Step - II: ice good 10 12 money 21 13 18 qualify 35 eligible 41 browse candidates

Step - 1ll : 13 18 ice good 10 12 money 21 qualify 35 eligible 41 browse candidates

Step - IV: money browse 13 18 ice good 10 12 21 qualify 35 eligible 41 candidates

Step - V: 21 35 money browse 13 18 ice good 10 12 qualify eligible 41 candidates

Step - VI : qualify eligible 21 35 money browse 13 18 ice good 10 12 41 candidates

Step - VIl : 41 qualify eligible 21 35 money browse 13 18 ice good 10 12 candidates

Step - VIIl : Candidates 41 qualify eligible 21 35 money browse 13 18 ice good 10 12

Q27 AR Y P AT W A I WU 2

a. IX
b. VI
c.V
d. VIl &

e. STH A PIg Ag!



Not Attempt | Correct Ans. | d

Solution. = -NA-

Q28 ROV H A A UEd R R P T AGREIT @ 2

a. ice
b. qualify
c. 10
d. 12 &
€. money

Not Attempt = Correct Ans. . d

Solution. | -NA-

Q29 GBI R HA F T fra aRol B Mazgdar @ 2

a. Vvl
b. VI
c. VIII &
d. X
e. X

Not Attempt | Correct Ans. | ¢

Solution. | -NA-

Q30  TROTVIIH 21312 & I A fred da (TS AT 3 ) B 2

a. 3ld
b. Ui
c. A
d. 9%

e. TR Y DI el
Not Attempt = Correct Ans.  a

Solution. | -NA-

Q. No Question Status
Q31 f4dw (31-35): FERIRQT TSR T AAYEP eaT— HI MR UM F IWE |

T ffia s ymw 'ef, ‘the economic growth of India’ P ‘fa di ga hi na’ ferar <mar %, ‘high price low
growthstate’ P ‘ha ga ta saka’ feran \_rl'IHT%, ‘growth of the unitedstate’ P ‘ta hi faga la’ feran \_rl'lﬂT% 3R
‘high inflation inIndia’is written as ‘di haja pa’ ﬁlﬁTTrl'l?lT%l

Q- ‘economic’ T HIS W% ?

a. fa
b.na
c. hi
d. di



Q.32

Q.33

Q.34

e. 3TH Y @IS gl

Not Attempt = Correct Ans. | b

Solution. = Directions (31-35):

India 2> di
Growth 2> ga
State 2> ta
High 2> ha
Price/low 2> sa/ka
Of/the >  hi/fa
Economic 2> na
United 2> la
Inflation/in =2 pa/ja

= (31-35): Fafifad TR &1 AFYdS sreagd B3 R Ui & S |

T® fAf3a s YT #, ‘the economic growth of India’ P ‘fa di ga hi na’ forar siman g, ‘high price low
growthstate’ P ‘ha ga ta saka’ feran \_:l'IT-lT%, ‘growth of the unitedstate’ P ‘ta hi faga la’ feran \_rl'IT-lT% 3R
‘high inflation inIndia’is written as ‘di haja pa’ ﬁl@T\_rl'l?lT%I

Q- ‘ta’ PIHISHTE ?

a. growth
b. of

c. state
d. the

e. TTHABIS Ta!

Not Attempt | Correct Ans. | ¢

Solution. = -NA-
= (31-35): Fafifad TR &1 AFYdS sreagd H3 R Ui & S |

T® fAf3a s YT #, ‘the economic growth of India’ P ‘fa di ga hi na’ forar siman g, ‘high price low
growthstate’ P ‘ha ga ta saka’ feran \_rl'IT'lT%, ‘growth of the unitedstate’ ®I ‘ta hi faga la’ fRran \_rl'l?lT% 3R
‘high inflation inIndia’is written as ‘di haja pa’ ﬁl@T\‘rl'l?lT%I

Q- high rate in india’ ® {&Y ®is # for@r s Har g 2

a.sidipaha
b. pa di ha sa
c. ha pa gafa
d. hana pa di

e. STH Y PIs A8
Not Attempt | Correct Ans. | a
Solution. = -NA-
= (31-35): FrafifEd SFe™ &1 wHYd® sreaad $3 R usi & S|
Tdh IBIEG HIS HIHT ﬁ', ‘the economic growth of India’ &I “fa di ga hi na’ forar sman %, ‘high price low

growthstate’ FI ‘ha ga ta saka’ ferar smar %, ‘growth of the unitedstate’ FI ‘ta hi faga la’ ferar s % R
‘high inflation inIndia’is written as ‘di haja pa’ ﬁl@TGﬂTﬂ%I



Q.35

Q.36

Q.37

Q- ‘price’ ¥ fow HIHISE ?

a.sa
b. ha
c.ta
d. ka
e.qidl kaTTsa

Not Attempt = Correct Ans. @ e

Solution. | -NA-
frd=r (31-35): Faff@d aFeR &1 wFyde sreaas H3 R Ui & IW S |

Th IBIEG BIS HINT ff, ‘the economic growth of India’ &I “fa di ga hi na’ forar wran %, ‘high price low
growthstate’ ®I ‘ha ga ta saka’ foran \_rlTElT%, ‘growth of the unitedstate’ 1 ‘ta hi faga la’ feran \_rlTElT% 3R
‘high inflation inIndia’is written as ‘di haja pa’ FcIET\_rl'IT-lT%I

Q- ‘low price in economic’ aﬁﬁmaﬁsﬁmmm%

a.napakala
b. pasanaja
c.kasanapa

d. Bl -TE o Tbdl &
e. 3T Y HIS el

Not Attempt = Correct Ans. | c

Solution. | -NA-

3= (36-40): AP wy A G wHfiwur (1) 3R (1) fRw T § | Ut Y IHieRuI gA A € SR IW AR B |

Q- 1. 5x2-87x+378=0 Il. 3y*-49y+200=0

a.gfax>y w

b.l'lﬁx<y

c.afd x>y

d.q%XSy
e.qﬁx=y€ﬂ‘x’ﬁ‘y’%@ﬂﬁmm?ﬂﬁﬁﬁmww%

Not Attempt = Correct Ans. | a

Solution. 42
omMHon- ) x=9m=

=1

||.35=8,§ X >y
= (36-40): U@ Uy § S FHIHRT (1) 3R (11) T T & 1 MUH) ST HHIPRUT g PR & SMRIW I E |

Q- I. 10x2-x-24=0 II. y?-2y=0

a. dfd x>y
b.‘CI'PCIx<y
c.afEx<y
d.qﬁixsy



Q.38

Q.39

Q40

e. G x =y AT X 3R 'y & S T DI3 T~ T ol a1 o GHdl §

Not Attempt | Correct Ans. @ e
ion. _3
Solution (5)1. x ==,

l.y=0,2 Mo relation

&= (36-40): QS Y # S FHIHROT (1) 3N (11) 2T 7T & | MU G TNV EA PR B R IWAE |

w ol

Q- I. x2+5x+6=0 Il. 2y>-15y+27 =0

a. g x>y

b.tlﬁx<y

c.afExzy

d.lTPCIxSy &

e. afe x =y AT X 3R 'y & g A PIs T~ VTG L1 foram S Gbel1 §

Not Attempt | Correct Ans. : d

Solution. (4} x=2,3
. y= 3,; X2y

fAd=r (36-40): U@ Uy ® S FHIHT (1) 3R (11) T T § 1 MUH) ST HHIBRUT g PR & SMWIW I E |

Q- 1. 3x+2y=301 II. 7x-5y=74

a. afgx>y

b.trf?x<y i

c.afd x>y

d.q%XSy

e. Ul x = y AT X 3R 'y & ol T BI3 Jra=el WG 8T fopar o w1 §

Not Attempt = Correct Ans. ' b

Solution. (2) x = 1653 —57
29

andy =65 X<y

Hence, x <y
A= (36-40): U@ Uy § S FHIHRT (1) 3R (11) T T & 1 SMUH) ST HHIPRUI g PR & SR IW A E |

Q- I. 14x2-37x+24=0 Il. 28y>-53y+24=0

a. g x>y

b.tlﬁx<y

c.aExzy w

d.le;CIxSy

e. afe x =y AT X 3R 'y & g A PIs T~ VTG L1 fovam &1 Gabe §

Not Attempt = Correct Ans. ¢



Solution. (3)1. x =

]

=1 1@

=1 | o2
'F'Immlm

.y= X2y

LKy

Q41 43 (41-45): § A HEM 407 F vy e & T U= 4T 3T 2

]

5 26 165 1332 13335 ?

a. 143602
b. 124680
c. 180056
d. 173004
e. 160038
Not Attempt = Correct Ans. e

Solution. | (5) The seriesis x4 +6,x6+9,x8+12, ....
Q42 4w (41-45); & T T A0t H Uy e & R UR T 1AM 2

1320 720 336 120 24 2

2

© 20 T
oON A~ ®

Not Attempt | Correct Ans. @ e

Solution. | (5) The series is 11°-11,9°-9,7° -9, ...
Q43 4w (41-45); & T HEAT A0t W Uy e & RIH UR T 1AM 2

8 47 142 317 596 ?

a. 1003
b. 987
c. 961
d. 942
e. 902

Not Attempt = Correct Ans. | a
Solution. (1) The seriesis3?x1—-1,5*x2—-3,7?x3-5,9°x4-7, ...
Q44 {3z (41-45): <t T w9t ° wy R & R WR 41 ST 2

Q-1 10 27 52 85 ?

a. 118
b. 122
c. 126
d. 130
e. 136



Not Attempt | Correct Ans. ' ¢

Solution. (3) Theseriesis1x2—-1,3x4-2,5x6—-3,7x8—-4,9x10-05, .....
Q45 3R (41-45): < T T AvRt W wy R & I WR 1 ST 2

Q-1 54 375 1372 36457?

a. 6434
b. 7986
c. 8154
d. 9263
e. 9626

Not Attempt = Correct Ans. | b

Solution. = (2) The seriesis1x 13, 2x 3%, 3x 5%, 4x7°,5x 9, ...

Essay for Question No. 46

e (46-50): BT 7% &1 e Ud® 31era B3 3R U8l BT IR S |
it 7 drufat grr i anf & fata feear 1e argd &t A (§9R o H)

60 - —é— Company A —a— Company B

% profit
lad
=]

2008 2009 2010 2011 2012 2013
Year

Q. No Question Status

Q46 gy 2011 H Tfe U A T 3T 91 A T. A, o I 9 F IHBT Y fHa=T U1 2

a. 51 dg
b. 56 dId
c. 63 9
d. 65 TG w
e. 7274

Not Attempt = Correct Ans. : d

Solution. (1) Expendituresos; =91 X %z = 65 Lakh

Q47 gfg qf 2008 H HUT A 3R a9 2009 H HUHI B BT T 60 TRT $ RER YT, A HUI B PI a9 2009 3R HU A
P19 2008 P Mg A fHaT iR (ARAH) § 2

a. 6 drd
b.9 WG



c. 12 drd
d. 15 ¢
e. 18 i

Not Attempt | Correct Ans. | b

Solution. ' (2)

115
|,n,2.3-:|5= 60 x H} = 69 lakh

ls200s= 60 X %g — 78 lakh

*. Difference = 78 — 69 =9 lakh

Q48 gy 2011 H HUHI B BT ATH UfATd, YT A & 99 2013 F ATH UTA=d ST AW a1 ufa=ra 41 2

a. 75%

b. 125%

c. 150%
d.175%
e. 180%

Not Attempt = Correct Ans. : d
Solution. 4y Reqd.% =§ x 100 = 175%

Q49 gfg HuHT A T 3ma af 2011 (AT H ) H 3R af 2012 H 91 ARG F. F &R Y, @ af 2011 3R T 2012 H Hut
A DT HA Y fhar 4T 2

a. 182 dig
b. 154 79
c. 13579
d. 124 79

e. TH Y ®IE gl

Not Attempt = Correct Ans. ¢

Solution. (3) Ez012 =91 X %z = 65 lkah

100
Jlﬁiﬁd|l E2.312 =91 x E‘ = 70 lakh

.. Total expenditure = 65 + 70 = 135 lakh

Q50 g qf 2013 A HUN A BT I 45 TG 3R Y 2009 H HUT B B 31 78 A1@ T. A, A HUHT A P16 2013 FI
31 $UI B & a9 2009 & 04 &1 a1 ufamma o4t 2

a.57.7%
b. 33%

C. 78%

d. 84%
e.90%

Not Attempt = Correct Ans. | e



(5) a0z = 45 X %z = 54 lakh

100
Egzg.;]g =78 X Eﬁ = 60 lakh

. Reqd. % =E x 100 = 90%

Q. No Question Status

a5t f4dwr (51-55): Frafafed vl & vy e & wM W w1 9mdw 2

[(24)? + (36)%] = 25 =7

a.70.75
b.74.88
c. 78.68
d.73.28

e. TR Y DI el
Not Attempt | Correct Ans. - b

Solution. | -NA-

as52  fydwr (51-55): Fufafed el & vy s & M wwm s 2

(6214 + 3689 + 1476) — (5213 + 1365 + 2038)=7

a. 2843
b. 2753
C. 2763 w
d. 2853

e. TR A DIs g
Not Attempt = Correct Ans. ¢

Solution. | -NA-

Q53 3w (51-55): Fafefad uyl & vy fog & WM W &1 3 2

1 %3237 + 2 x 5362 =2
13 14

a. 1346
b. 1368
c. 1355
d. 1398 w

e. TR Y DI el
Not Attempt | Correct Ans. | d

Solution. | -NA-

as4  fydwr (51-55): Frafafed vl & vy s & WM W wm emw 2

(48)% + 12 ++/7= 248

a. 3035
b. 3025



c. 3249
d. 3136 &

e. TTHIABIS Ta!

Not Attempt = Correct Ans. . d

Solution. | -NA-

ass  fydwr (51-55): Fafafed sl & vy e & WM wwm e 2

760 T 39% —550 =hT1 29% =7

a. 1443
b. 156.5
c.136.9
d. 130.6

e. STH A DI g

Not Attempt | Correct Ans. | ¢

Solution. | -NA-

Q56  TH "13000 . B A=A 2 IUT & THGIS TS AV "16307.20 . T AT 8, TS BT G T BY ?

a. 10%pa
b. 1% pa
c.12% pa
d. 13% pa
e. 14% pa

Not Attempt = Correct Ans. | c

. n
Solution. (3)A=P (l—i—L)
100

r 2
or, 13000{1 + E.} — 16307.20

or, (1+L)2 _ 1630720 _

100 13000

T 112
Oor,l+—=—
100 100
r 112
Or, —=_—
100 100
T 112
Or,—=—
100 100

. r=12% per annum

(112)2
100

Q57  Teg MULTIPLE &1 T fPd-l UoR A forar o1 91 g, i = ga=m a1y 3m 2

a. 4320
b.2160
c. 1080

d. 40320
e. 20160

Not Attempt | Correct Ans. . b

Solution.



Q.58

Q.59

Q.60

(2) We consider all three vowels (U, I, E) as one letter, so total number of letters = 6, and three vowels can
be arranged in 3! Ways among themselves. However, the letter ‘L’ comes twice.)

%3 _ 720%3 = 2160

.. Total number of ways =

TP UISY A, U1 B <P B 8 B A HAT €, UISY B I B! BT 12 6 H HT § 3R UISY € I bl &) 24 6 A
Qreft Bt g | 9 A= Tl B a1y § Wit faan Srar @ O <@l B wRA a1 @reft g A $ fae awa @ 2

a.4.84c
b. 5 ¢

c.5.4€c
d.6UC w
e.7.24c

Not Attempt | Correct Ans. | d

Solution.

1 3I+2-1

(4) If all three pipes are opened together, in one hour they will fillg + 1—12 e & é per of tank.

So, to fill it completely it will take 6 hours.

TP AR T I B! Sifbd o A 15% Pe W 14280 F. B I § 3R HI Tod W 19% $T a1H ST ¢ | 9
g 99 9% &1 faA1 ge & a9, @ I fra-m ary giar?

a. 30%

b. 34%
c.40%
d. 42.5%

e. STH A DI gl

Not Attempt | Correct Ans. ' ¢

Solution. ) _belled price :%Xw“ =716800

. 14280 X100
.. Now, cost price =T: =¥12000

16800—12000

. profit =————— x 100
12000
4800>x100
= = 0,
12000 40 }"D

YRV o911 0X 3 99 3 WA & v =M 8% a1ffer suret 35 g% | 5140.80 &Y et @, garuer = faaeht <R, ga
P

a. 4050
b. 4080 &
c. 4220
d. 4260
e. 4350

Not Attempt | Correct Ans. | b



(2) Let the principal be Tx.

Now, 5140.8— x = 23222
100

Or, 514080-100x = 26x

314080 -7 4080
126

Or, x=

Q61 U IEH! b AGIPA Bl 15% P Bl U 99T ¢ | UfS 98 ASiPd BI 241.87 3. 3fUP A I=dT oY I8 24% BT
ATH HHTAT | 30% ATH FHM & T 3§ A5fed & frar 3. & dg1 Tnfge 41 2

a. 782
b. 792
C. 796
d. 800
e. 806 w

Not Attempt = Correct Ans. e
Solution. (5) Let the cost price be Tx.
", Selling price = 2~
. Selling price =

If profit is 24% then selling price = 12%x

_ 100
Now, = —25% _ 9418
100 100
Or, 39x = 24180
or, x=22222 _%620

For 30% gain SP = % x 620 =7806

Q62  TH Hel B T AT 12.05 9 7 | DEATSN B 3T g 12.5 af § 3R AsH! B id g 11.75 af g 1 Tl
T W A 45 TSP ¢ dl TSPl BT HSAT 7T B |

a. 20
b. 25
c. 30 &
d. 35
e. 40

Not Attempt = Correct Ans.  c

Solution.  (3) Let the number of girls be x.
The number of boys is 45.

.. Total age of boys and girls in the class
= (x+45) x 12.05

Or, (x + 45)x 12.05=45 x 11.75+ X x 12.5
Or,12.05x+542.25=528.75+12.5x

Or,13.5=0.45x
Or, x =i'h:' =30
0.45

Q63 U ASH TH B HI 10 1 ¥ W HAT 8 | TP A5 P! Heg | 98 39 $ FI 8 o=l ¥ @1 Hrar 3 1 Al 37
P B[ F 11115 3. A & o ds& &1 e faar erm 2

a.2223
b. 2784
c. 3163



d. 3312

e. STH Y ®IS gl

Not Attempt = Correct Ans. | a

Solution. (1) |n one day boys cando

1 1 5—4 1
- = — = —part
8 10 40 40

So, boys can finish the work in 40 days.
Now, men’s share: Boys' share=40:10=4:1

I 1=%2223

.. Boys' share=

3

Q64  uw wfwr 40 fetlt e ot 7fa @ go= arell 59 @ ve FAfda g8 au owar @ oiR A et fig W 9w e
BT 6 farrft.ee i A Tarar 8 1 59 8 aEn # 13 62 48 MTe &1 9wy @ | 3O Ugd gk fhadt gft au B
?

a. 60 T,
b. 64 foa.
c. 70 T
d. 72 fodt, w
e. 80 fopdl.

Not Attempt = Correct Ans. : d

Solution.  (4) | et the distance be x km.

x x 48 69
Then, —+-=13+—=—
40 & 60 5
23x 69
or,—=—
120 5
£9%120
Or, x= — = 72km
23¥5

Q65 uw fEsd A 4 gY, 5 AT 3R 6 Whe 9id & | 3 i B! Tefs® ¥U A FH@ar T | ag it 41 afa & i @
B B T IIEAT S 2

a.24/91 w
b. 67/91
c. 21/91
d. 70/91
e. 3/13

Not Attempt = Correct Ans. | a

Solution. (1) Total number of balls = 15
. n(S) = 15C4= 455
N(E) =*C1 x °C,x5C1 =4 x 5 x 6 = 120
120 24

S P(E)= 15=E— o1



Essay for Question No. 66

frd=r (66-70): fFufoRad Tifvoll ©: o & ©: foval & oM 3i ufawrd &1 gxiidl 8 1 39 IIivol wR snumRa uslf IR S |

Subject —|Hindi|English|Maths|Science| GK|Economics
Student | (100)| (100) | 200)| (50) |50} (75)

83 77 68 64 | 60 64

71 67 65 70 |62 76

65 52 55 46 | 58 56

48 58 51 42 | 48 44

53 | 46 45 54 |40 60

51 62 48 56 |50 48

Q. No Question Status

Q66 BT C A P fPa sip U fHAE 2

a. 321
b. 323
c. 327
d. 334
e. 337

Not Attempt = Correct Ans. | a

Solution. (1) Total marks scored by Students C
=65 + 52 + (55 x2) +(46x3]+ (58>< E)+ (56 xi)
2 2 3
=65 +52 +110 +23+29+42=321

Q67 gl BEI A 6K v & ey fraa s ura fFA @ 2

a. 245

b. 25
c.255

d. 26
e.26.5

Not Attempt | Correct Ans. @ e

Solution.  (5) Ayerage marks scored in GK
- X~ X (60 + 62 + 58+ 48 + 40 + 20)}
1

=Zx[§x318)=?=26-5

Q68 BT E GRT fag fawa & ure sie ofR BT F g1 srefmee fawa & ure 8iw &7 srgurd fhar @ 2

a.2:3
b.3:4 w
c.4:5
d.5:6
e. 78

Not Attempt = Correct Ans. . b



Solution. (2) Escience =54 x ¥ = 27
FE::Jn::lmi:s =ﬁ X ?5 = 36
100
3

Ratio=£=— =3:4
36 4

Q69  BTTH A GRI il fawy A urw 3 BT F gRT GK fawa # ure 3iet &1 fra-m ufasra @ 2

a. 128%
b.216%
c. 254%
d. 308% !
e. 342%

Not Attempt = Correct Ans. : d

Solution. (4) Acngisn =77
For=—rX 50 = 25
100

. Reqd. % =¥ % 100 = 308%

Q70 B c gRI AgH favy § U 3w BT E §RT GK fawy § ure 3t & @ fam ufawra ot @ 2

a. 3%

b. 12%
c.15%
d. 18%
e.24%

Not Attempt = Correct Ans. ¢

Solution. (3)Cecience = 50X 26 _ 23
100

40
Egk =50 % Too 20
(23-20)x100 _ 300

.. Regd. % = =0 0

= 15%



Essay for Question No. 71

Directions (Q.71-80) Read the following passage carefully and answer the questions given below it. Certain words are
given in bold in the passage to help you locate them while answering some of the questions.

Though the Cold War has ended, selective tactics are still continuing for ensuring the military and economic dominance of
developed countries. Various types of technology denial regimes are still being mainly targeted against developing
countries like India. Today we in India encounter twin problems. On one side there is a large scale strengthening of our
neighbours through supply of arms and clandestine support to their nuclear and missile programmes and on the other
side all efforts are being made to weaken our indigenous technology growth through control regimes and dumping of low-
tech systems, accompanied with high commercial pitch in critical areas. Growth of indigenous technology and self —
reliance are the only answer to the problem. Thus, in the environment around India, the number of missiles and nuclear
powers are continuously increasing and destructive weapons continue to pile up around us, in spite of arms reduction
treaties. To understand the implications of various types of warfare that may affect us, we need to take a quick look at the
evolution of war weaponry and the types of warfare. | am highlighting this point for the reason that in less than a century
we could see change in the nature of warfare and its effects on society.

In early years of human history it was mostly direct human warfare . During the 20th century upto about 1990. the warfare
was weapon driven. The weapons used were guns, tanks, aircraft, ships , submarines and the nuclear weapons deployed
on land/ sea/ air and also reconnaissance spacecraft, Proliferation of conventional nuclear and biological weapons was
at a peak owing to the competition between the superpowers. The next phase, in a new form has just started from 1990
onwards. The world has graduated into economic warfare. The means used is control of market forces through high
technology. The participating nations, apart from the USA , are Japan , the UK France, Germany, certain South-East Asian
countries and a few others.

The driving force is the generation of wealth with certain types of economic doctrine. The urgent issue we need to address
collectively as a nation is, how do we handle the tactics of economic and military dominance in this new form coming from
the backdoor? Today technology is the main drive of economic development at the national level. Therefore , we have to
develop indigenous technologies to enhance our competitive edge and to generate national wealth in all segments of
economy. Therefore, the need of the hour is arm India with technology.

Q. No Question Status

Q7 Why do certain countries use selective tactics against developing countries?

a. To help developing countries gain military and economic independence

b. To help developing countries govern themselves and be economically independent
c. To ally with developing countries to dominate over other developed countries

d. To curtail their domination over developing countries

e. None of the above

Not Attempt | Correct Ans. @ e

Solution. | -NA-

Q72 Which are the issues of great concern that India is facing at present , according to the author of the
passage?
(A) The supply of high—tech weaponry by other countries to India’s neighbours who are likely to use the
same against India
(B) Other countries secretly helping India’s neighbours to strengthen their nuclear might
(C) Obstruction of India’s genuine efforts to develop its own nuclear technology.

a. (A) and (B) only
b. (B) and (C) only w#
c. (A) and (C) only
d. All (A), (B) and (C)



Q.73

Q74

Q.75

Q.76

e. None of these

Not Attempt = Correct Ans. | b

Solution. | -NA-

Enforcement of technology denial regimes by developed countries implies which of the following?

a. Dominance of developing countries over developed ones

b. Exploitation of developing nations by the mightier ones

c. Targeting of developed countries by developing countries ¢
d. Sympathizing with underprivileged countries

e. None of the above

Not Attempt = Correct Ans. ¢

Solution. | -NA-

The striking difference in warfare before and after 1990 was the shift from

a. guns, tanks, etc to nuclear weapons

b. shifts and submarines to spacecrafts

c. weaponry to economic warfare w#

d. economic forces to high technology driven warfare
e. None of the above

Not Attempt = Correct Ans. ¢

Solution. | -NA-

Why according to the author, is it necessary to examine how weaponry and warfare have evolved?
(A) To understand their implications for us

(B) To learn the rapid changes that have taken place in weaponry and warfare

(C) To master them and enable us to attack our enemies.

a. All (A), (B) and (C)
b. (A) and (B) only w#
c. (A) and (C) only

d. (B) and (C) only

e. None of these

Not Attempt | Correct Ans. | b

Solution. | -NA-

According to the author, the most effective way to counter our major problems is to
(A) develop indigenous technologies

(B) compete with other countries in their warring tactics

(C) generate national wealth in all segments of economy,

a. All (A), (B) and (C)
b. (A) and (B) only
c. (B) and (C) only
d. (A) and (C) only w#



Q77

Q.78

Q79

Q.80

e. None of these

Not Attempt @ Correct Ans. | d

Solution. | -NA-

What , according to the author, is the solution to our problems in the international filed ?
(A) Importing up-to-date technology and nuclear equipments from developed countries
(B) Developing our own in-house technology

(C) Eliminating dependence on developed countries.

a. (A) and (B) only

b. (A) and (C) only

c. (B) and (C) only &

d. All (A), (B) and (C) only
e. None of the above

Not Attempt = Correct Ans. ¢

Solution. | -NA-

What is the general outcome of arms reduction treaties as a whole according to the author of the
passage?

a. They seem to have become totally defunct w#

b. They have achieved the desired outcome in most cases

c. They have resulted in curbing the trade of destructive weapons

d. piling up of weapons has significantly reduced due to such treaties
e. None of the above

Not Attempt = Correct Ans.  a

Solution. | -NA-

Choose the word which is Most nearly the SAME in meaning as the word printed in bold as given in the
passage.

Reconnaissance

a. Investigation,
b. Reserved,

c. Recognizable,
d. Remedy,

e. Attack

Not Attempt = Correct Ans. | a

Solution.
(a); Reconnaissance means preliminary surveying or research. Thus, Investigation is the word which is
nearly the same in meaning.

Choose the word which is MOST OPPOSITE in meaning of the word printed in bold as given in the
passage.

Indigenous



Q. No

Q.81

Q.82

Q.83

a. Local,

b. Domestic,
c. Abroad,

d. Foreign, &
e. Exported

Not Attempt = Correct Ans. : d

Solution.
(d); Indigenous means originating or occurring naturally in a particular place. Thus,Foreign is the word
which is nearly the opposite in meaning.

Question Status

Directions (81-85): Read each sentence to find out whether there is any grammatical mistake/error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is 'no
error’ the answer is 5). (Ignore errors of punctuation, if any)

Q- By comparing figures before a)/ any during the pandemic, b)/ the researchers can determine how many
people were infected c)/ as the virus spread around the world. d)/ No error e)

a.a
b.b
c.c
d.d
e.e

Not Attempt | Correct Ans. | a

Solution. | (a); Add ‘the’ before ‘figures’

Directions (81-85): Read each sentence to find out whether there is any grammatical mistake/error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is 'no
error’ the answer is 5). (Ignore errors of punctuation, if any)

Q- An institution in Goa a)/ helps public around the city (b/ by creating Swach Boat, c)/ which picks up
garbage on the beach. d) /No error e)

a.a
b.b w
c.c
d.d
e.e

Not Attempt | Correct Ans. - b

Solution. | (b); Replace ‘around’ with ‘across’
Directions (81-85): Read each sentence to find out whether there is any grammatical mistake/error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is 'no

error' the answer is 5). (Ignore errors of punctuation, if any)

Q- Bank safe deposit lockers a)/ is a good option b)/ for safeguarding c)/ your valuables and documents



Q.84

Q.85

Q.86

d)/ No error e)

a.a
b.b w
c.c
d.d
e.e

Not Attempt = Correct Ans. | b

Solution. (b); Replace ‘is’ with ‘are’

Directions (81-85): Read each sentence to find out whether there is any grammatical mistake/error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is 'no
error’ the answer is 5). (Ignore errors of punctuation, if any)

Q- Newspapers and magazines traditionally a)/ have had three b)/ revenue sources: newsstand sales,
subscriptions c) /and advertising d)/ No error e)

a.a
b.b
c.c
d.d
e.e

Not Attempt = Correct Ans. e

Solution. | -NA-

Directions (81-85): Read each sentence to find out whether there is any grammatical mistake/error in it.
The error, if any, will be in one part of the sentence. The number of that part is the answer. If there is 'no
error’ the answer is 5). (Ignore errors of punctuation, if any)

Q- Since most of the a)/ employees were in b)/ favour of the merger c)/ it was a success. d)/ No error e)

a.a
b.b w
c.c
d.d
e.e

Not Attempt = Correct Ans. | b

Solution. | (b); Change ‘were’ to ‘had been’

Directions (Q. 86-90): Which of the phrases (a), (b), (c) and (d) given below should replace the phrase
given in bold in the following sentence to make the sentence grammatically meaningful and correct . If
the sentence is correct as it is and ‘No correction is required’ mark (e) as the answer.

Q- As soon as she opened the umbrella, a scorpion fell about of it.

a. fell up from

b. fell off from

c. fell out off ¢

d. fell from off

e. No correction required



Q.87

Q.88

Q.89

Not Attempt | Correct Ans. ' ¢

Solution.
(c); ‘fell out off’ fits the sentence appropriately as fell out means to drop or descend under the force of
gravity.

Directions (Q. 86-90): Which of the phrases (a), (b), (c) and (d) given below should replace the phrase
given in bold in the following sentence to make the sentence grammatically meaningful and correct . If
the sentence is correct as it is and ‘No correction is required’ mark (e) as the answer.

Q- A true leader’s life is a saga of dedicating to the cause of welfare of human beings.

a. of dedicated

b. of having dedication in
c. of dedication to

d. for dedication at

e. No correction required

Not Attempt = Correct Ans. ¢

Solution.
(c); ‘of dedication to’ fits the sentence appropriately as it makes the sentence structure grammatically
correct.

Directions (Q. 86-90): Which of the phrases (a), (b), (¢) and (d) given below should replace the phrase
given in bold in the following sentence to make the sentence grammatically meaningful and correct . If
the sentence is correct as it is and ‘No correction is required’ mark (e) as the answer.

Q- He firmly believes that a significant change in the structures of our various departments is necessary.

a. significant in change among the structures

b. significant changing structures

c. significantly changing throughout the structures
d. significant change among the structures

e. No correction required

Not Attempt = Correct Ans. e

Solution. | -NA-

Directions (Q. 86-90): Which of the phrases (a), (b), (c) and (d) given below should replace the phrase
given in bold in the following sentence to make the sentence grammatically meaningful and correct . If
the sentence is correct as it is and ‘No correction is required’ mark (e) as the answer.

Q- Despite being considerable difficulty, this is one of the most popular exercise.

a. considerably difficult
b. considerable difficult

c. considerable difficulties

d. considerably and difficulty
e. No correction required

Not Attempt | Correct Ans. | a



Q.90

Q.91

Q.92

Solution.
(a); ‘considerably difficult’ fits the sentence appropriately as it conveys the proper meaning of the
sentence.

Directions (Q. 86-90): Which of the phrases (a), (b), (¢) and (d) given below should replace the phrase
given in bold in the following sentence to make the sentence grammatically meaningful and correct . If
the sentence is correct as it is and ‘No correction is required’ mark (e) as the answer.

Q- The prayer is most likely to start at 6.00 am

a. be most likely started by
b. is mostly liked to start at
c. is mostly like to starting at
d. is most likely start at

e. No correction required

Not Attempt | Correct Ans. @ e

Solution. | -NA-

Rearrange the following sentences (A), (B), (C) , (D) ,(E) and (F) into a meaningful paragraph and then
answer the questions given below it.

(A) Moreover salaries in public sector enterprises are not as competitive as those offered by private or
foreign corporates.

(B) This trend should be a wake up call for stakeholders to examine why employees are seeking better
opportunities with private companies in India and abroad.

(C) Public Sector Enterprises (PSEs) have been experiencing severe challenges in attracting, motivating
and retaining their key staff.

(D) Having identified these as the reasons employees leaves PSEs it is important to empower
stakeholders to find ways to remedy the situation.

(E) One reason is that young employees lured away to private firms are more willing to undertake
professional risks.

(F) Employees in specialist roles especially have become increasingly difficult to retain.

Q- Which of the following should be the FIRST sentence after rearrangement?

a. A,
b. B,
c.C,
d. D,
e.E

Not Attempt = Correct Ans. ¢

Solution.
For questions (91-95): The proper sequence of sentences to form a meaningful paragraph will be
CFBEDA

Rearrange the following sentences (A), (B), (C) , (D) ,(E) and (F) into a meaningful paragraph and then
answer the questions given below it.

(A) Moreover salaries in public sector enterprises are not as competitive as those offered by private or
foreign corporates.

(B) This trend should be a wake up call for stakeholders to examine why employees are seeking better
opportunities with private companies in India and abroad.

(C) Public Sector Enterprises (PSEs) have been experiencing severe challenges in attracting, motivating
and retaining their key staff.



Q.93

Q.94

(D) Having identified these as the reasons employees leaves PSEs it is important to empower
stakeholders to find ways to remedy the situation.

(E) One reason is that young employees lured away to private firms are more willing to undertake
professional risks.

(F) Employees in specialist roles especially have become increasingly difficult to retain.

Q- Which of the following should be the SECOND sentence after rearrangement?

a. A,
b. B,
c.C,
d. D,
e. F w

Not Attempt = Correct Ans. : e

Solution. | -NA-

Rearrange the following sentences (A), (B), (C) , (D) ,(E) and (F) into a meaningful paragraph and then
answer the questions given below it.

(A) Moreover salaries in public sector enterprises are not as competitive as those offered by private or
foreign corporates.

(B) This trend should be a wake up call for stakeholders to examine why employees are seeking better
opportunities with private companies in India and abroad.

(C) Public Sector Enterprises (PSEs) have been experiencing severe challenges in attracting, motivating
and retaining their key staff.

(D) Having identified these as the reasons employees leaves PSEs it is important to empower
stakeholders to find ways to remedy the situation.

(E) One reason is that young employees lured away to private firms are more willing to undertake
professional risks.

(F) Employees in specialist roles especially have become increasingly difficult to retain.

Q- Which of the following should be the THIRD sentence after rearrangement?

a. A,
b.B,
c.C,
d. D,
e. E

Not Attempt = Correct Ans. . b

Solution. | -NA-

Rearrange the following sentences (A), (B), (C) , (D) ,(E) and (F) into a meaningful paragraph and then
answer the questions given below it.

(A) Moreover salaries in public sector enterprises are not as competitive as those offered by private or
foreign corporates.

(B) This trend should be a wake up call for stakeholders to examine why employees are seeking better
opportunities with private companies in India and abroad.

(C) Public Sector Enterprises (PSEs) have been experiencing severe challenges in attracting, motivating
and retaining their key staff.

(D) Having identified these as the reasons employees leaves PSEs it is important to empower
stakeholders to find ways to remedy the situation.

(E) One reason is that young employees lured away to private firms are more willing to undertake



Q.95

Q.96

professional risks.
(F) Employees in specialist roles especially have become increasingly difficult to retain.

Q- Which of the following should be the FIFTH sentence after rearrangement ?

a. A,
b. B,
c.C,
d.D, wd
e.E

Not Attempt = Correct Ans. ' d

Solution. | -NA-

Rearrange the following sentences (A), (B), (C) , (D) ,(E) and (F) into a meaningful paragraph and then
answer the questions given below it.

(A) Moreover salaries in public sector enterprises are not as competitive as those offered by private or
foreign corporates.

(B) This trend should be a wake up call for stakeholders to examine why employees are seeking better
opportunities with private companies in India and abroad.

(C) Public Sector Enterprises (PSEs) have been experiencing severe challenges in attracting, motivating
and retaining their key staff.

(D) Having identified these as the reasons employees leaves PSEs it is important to empower
stakeholders to find ways to remedy the situation.

(E) One reason is that young employees lured away to private firms are more willing to undertake
professional risks.

(F) Employees in specialist roles especially have become increasingly difficult to retain.

Q- Which of the following should be the LAST (SIXTH) sentence after rearrangement ?

a. A
b. B,
c.C,
d. D,
e. E

Not Attempt = Correct Ans. | a

Solution. | -NA-

In the following passage there are blanks each of which has been numbered. These numbers are printed
below the passage and against each five words have been suggested, one of which fills the blanks
appropriately. Find out the appropriate word in each case.

Technology changes lives. But only if people want it to. This qualification is important, and ...96... to
understanding progress. Akio Morita, the founder of Sony, used to make inventions not by writing code
but by making minute, detailed studies of how people lived their lives.It is observable that when the
relinquished direct involvement in product development at the company in the 1980s, Sony seemed to
lose its ...97... of developing a truly radical invention like the Walkman that the world takes to masse.
However much it seems that machines are in ...98... they are not. Yet, the belief that technology alone
holds the key to ...99... the way people work, buy, and do business is strong. The rise of dotcoms in the
late 1990s was accompanied by a belief that technology was changing the rules of marketing and
employee relationships. This is not to say there have been no changes in the new economy; but that
they tend to appear where technology makes it ...100... for people to communicate with each other or
have been unrelated to the technology. The dynamic is still a human one.



Q.97

Q.98

Q- 96

a. key

b. primarily

C. encouraging
d. supported
e. disastrous

Not Attempt = Correct Ans. | a

Solution. | -NA-

In the following passage there are blanks each of which has been numbered. These numbers are printed
below the passage and against each five words have been suggested, one of which fills the blanks
appropriately. Find out the appropriate word in each case.

Technology changes lives. But only if people want it to. This qualification is important, and ...96... to
understanding progress. Akio Morita, the founder of Sony, used to make inventions not by writing code
but by making minute, detailed studies of how people lived their lives.It is observable that when the
relinquished direct involvement in product development at the company in the 1980s, Sony seemed to
lose its ...97... of developing a truly radical invention like the Walkman that the world takes to masse.
However much it seems that machines are in ...98... they are not. Yet, the belief that technology alone
holds the key to ...99... the way people work, buy, and do business is strong. The rise of dotcoms in the
late 1990s was accompanied by a belief that technology was changing the rules of marketing and
employee relationships. This is not to say there have been no changes in the new economy; but that
they tend to appear where technology makes it ...100... for people to communicate with each other or
have been unrelated to the technology. The dynamic is still a human one.

Q- 97

a. share
b. profit
c. knack &
d. business
e. plant

Not Attempt = Correct Ans. ¢

Solution. | -NA-

In the following passage there are blanks each of which has been numbered. These numbers are printed
below the passage and against each five words have been suggested, one of which fills the blanks
appropriately. Find out the appropriate word in each case.

Technology changes lives. But only if people want it to. This qualification is important, and ...96... to
understanding progress. Akio Morita, the founder of Sony, used to make inventions not by writing code
but by making minute, detailed studies of how people lived their lives.lt is observable that when the
relinquished direct involvement in product development at the company in the 1980s, Sony seemed to
lose its ...97... of developing a truly radical invention like the Walkman that the world takes to masse.
However much it seems that machines are in ...98... they are not. Yet, the belief that technology alone
holds the key to ...99... the way people work, buy, and do business is strong. The rise of dotcoms in the
late 1990s was accompanied by a belief that technology was changing the rules of marketing and
employee relationships. This is not to say there have been no changes in the new economy; but that
they tend to appear where technology makes it ...100... for people to communicate with each other or
have been unrelated to the technology. The dynamic is still a human one.



Q.99

Q.100

Q- 98

a. progress
b. control
c. action

d. operation

e. transition

Not Attempt | Correct Ans. . b

Solution. | -NA-

In the following passage there are blanks each of which has been numbered. These numbers are printed
below the passage and against each five words have been suggested, one of which fills the blanks
appropriately. Find out the appropriate word in each case.

Technology changes lives. But only if people want it to. This qualification is important, and ...96... to
understanding progress. Akio Morita, the founder of Sony, used to make inventions not by writing code
but by making minute, detailed studies of how people lived their lives.lt is observable that when the
relinquished direct involvement in product development at the company in the 1980s, Sony seemed to
lose its ...97... of developing a truly radical invention like the Walkman that the world takes to masse.
However much it seems that machines are in ...98... they are not. Yet, the belief that technology alone
holds the key to ...99... the way people work, buy, and do business is strong. The rise of dotcoms in the
late 1990s was accompanied by a belief that technology was changing the rules of marketing and
employee relationships. This is not to say there have been no changes in the new economy; but that
they tend to appear where technology makes it ...100... for people to communicate with each other or
have been unrelated to the technology. The dynamic is still a human one.

Q-99

a. encroaching

b. accomplishing
c. determining w#
d. highlighting

e. informing

Not Attempt | Correct Ans. | ¢

Solution. = -NA-

In the following passage there are blanks each of which has been numbered. These numbers are printed
below the passage and against each five words have been suggested, one of which fills the blanks
appropriately. Find out the appropriate word in each case.

Technology changes lives. But only if people want it to. This qualification is important, and ...96... to
understanding progress. Akio Morita, the founder of Sony, used to make inventions not by writing code
but by making minute, detailed studies of how people lived their lives.lt is observable that when the
relinquished direct involvement in product development at the company in the 1980s, Sony seemed to
lose its ...97... of developing a truly radical invention like the Walkman that the world takes to masse.
However much it seems that machines are in ...98... they are not. Yet, the belief that technology alone
holds the key to ...99... the way people work, buy, and do business is strong. The rise of dotcoms in the
late 1990s was accompanied by a belief that technology was changing the rules of marketing and
employee relationships. This is not to say there have been no changes in the new economy; but that
they tend to appear where technology makes it ...100... for people to communicate with each other or
have been unrelated to the technology. The dynamic is still a human one.

Q- 100



a. essential
b. laborious
c. tough

d. easier
e. awkward

Not Attempt = Correct Ans.

Solution. | -NA-



